Series SMA/2 @ 4. 64/2/1

Code No.
At . uﬁ&nﬁﬁaﬁgaﬁmmaigagﬁ
Roll No. R 3aey ford |

Candidates must write the Code on
the title page of the answer-book.

e FUH VY W A F W w7 H Ofsd y= 11 € 9U 2 yB WA & €

o yH-wI ¥ T 719 F X U M Fig TR H TH I-IEH & @78 R GG |

o FUH Y W o F W U-T F 26 WA € |

° FUAT WU FH IW T yPE FA W UR, W H wuiG avd ford |

o I Y- W UeA & fow 15 fe w1 wug fem M R | WeA-w & faewo @i §
10.15 @ fFaT STCT | 10.15 A ¥ 10.30 T TF TH IaA TE-T WA i
T oy F WA F IR-YPeH W B IW A o |

e Please check that this question paper contains 11 printed pages and 2 pages
of maps.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

e (Sgf-<m)
GEOGRAPHY (Theory)
e w57 : 3 v SfyFaq 3 : 70

Time allowed : 3 hours . Maximum Marks : 70

64/2/1 1 o & i




Wﬁ#:

(®)
(it)
(1ii)
(iv)

(v)

(vi)

(vii)

(viit)

(ix)

F¥l F FT G 26 7 |
Gt yvT AT &
YRF J99 & G 39% 3F 27 & |

Tv7 FE 1 7 10 % 377 7g-39 a1 399 & 3 J9F 997 1 3% & |
§78 @ FF ¥99 @ I 20 V=l G 37FF I AGT g =@’ |

Tv7 GEIT 11 & 20 7F TI-I a%t T97 & 3K JAF I F 3 3% & | g
q J9F F97 F W 80 V= T 3FF @ T g1 AT |

Wﬁ@?ﬂ@%ﬁﬁ%—aﬁ?mﬁm?&ﬁ?mﬁ%5m§fﬁﬁ
T J9% F97 F1 I 150 V=l T 374F I 76 &7 AT |

¥99 G 26 HAMGE W T 1T YiifaE @i & ygara ar fefd e
3N THIFT FE G FaT

"OR 3R 9RA 37 79 @-aEE @ v Sw-giaer & sEvy o
FIIT |

Er-arAfaT a9 % fod aret a7 @fedt & J3T F SgEa @ i 8

General Instructions :

@

(ir)

(i)

(iv)

(v)

(vi)

64/2/1

There are 26 questions in all.
All questions are compulsory.
Marks of each question are indicated against it.

Questions number 1 to 10 are very short answer questions
carrying 1 mark each. Answer to each of these questions should
not exceed 20 words.

Questions number 11 to 20 are short answer questions carrying
3 marks each. Answer to each of these questions should not exceed
80 words.

Questions number 21 to 25 are long answer questions carrying
5 marks each. Answer to each of these questions should not exceed
150 words.



(vii) Question number 26 ‘is related to identification or locating and
labelling of geographical features on maps.

(viii) Outline maps of the World and India provided to you must be
attached within your answer-book.

(ix) Use of templates or stencils for drawing outline maps is
allowed.

1. SIEET & gers gfg &9 et 7 2 1
When does the positive growth of population take place ?

2. g 3R THE SHEEI § Fd S & 9EEg A9ee gaed | 1

Mention the general criteria for differentiating rural and urban
population.

3. fove & &l ¢ Aoty whes weu % A IRy | T+l=1
Name any two popular tourist regions of the world.

4. =R F8 Fed § 2 1
What is trade ?

5. 1991 -2001 ¥ IRH 9Rd & g Uo7 ¥ SOen & gfg T wod F9 8 ? 1

Which state of India registered the lowest growth rate of population
during 1991 — 2001 ?

6. 0-6% 7Y a7 § 4a¥ &7 afcisn foiT STUM alel 9Rd & Tsd & A FaRT | 1
Name the state of India having the lowest female child ratio 0 — 6 years.
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10.

11.

12.

13.

14.

AT YR YeE 1 uRem df | 1
Define the term ‘Metropolitan City’.

TR-RyoT AR T I Sifew TR HA-T R ? 1
Which is the Northern terminal city of North-South Corridor ?

RT & FH HE@qUl TP Semr & AW Fany | 1

Name the most important National waterway of India.

e g % & 3 Bl 1 Ieoig HiST | =

Mention any two sources of noise pollution.

T F WA R TER B 8, ISR afed wWE N | 3x1=3

Explain with examples how naturalisation of humans take place.

‘o A ST SR ool B a9 A F erar 3R wear off 4@ e |7
YT % S 39 FIAF @ g fag Ff | 3x1=3

“Very often, people do not have the capability and freedom to make
even basic choices.” Justify this statement with suitable arguments.

ToR ¥ @ TR W AR a9 ey i @ el A fadmarel @ avfa
FHIST | | 3x1=3

Describe any three characteristics of modern large scale
manufacturing in the world.

9§ YA & R e waeeid gRom @ owE S | 3x1=3

Explain any three environmental consequences of migration in India.
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15. F= feUu U 9Ra & AEfeT &1 HET FINC HR 3FF A™ G U ywE ¥ IW
g - 3x1=3
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(15.1) UIfFs™ & 9m @ o, 9Rd F1 98 SH-91 U9 8, S8l UF & 9Ny
IR B ?

(15.2) 39 WeMTRIT Y@L & AW FaR |
(15.3) IW YU & I & TG TRU & 99 Ja5T, S 98 & I TR @
g
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Study the map of India given below and answer the questions that follow :

P ®  w oW ow R
1N N
e oy INDIA s
s ; METROPOLITAN CITIES, 2001
tr_
g

b hd ANDAMAN & NICOBAR ISLANDS
LAKSHADWEEP

SN iINDIA)
- . 0 20 &0 500km S, I
— e — =3
INDIAN o0cEAN 3
(93 e 2%E Q
1

1 1

(15.1) Which state of India, bordering Pakistan, has only one
metropolitan city ?

(15.2) Name this metropolitan city.

(15.3) Name two metropolitan cities of Uttar Pradesh, which are also
ancient towns of India.

Az : fefafEd 397 Fae Egiv qanaal & g J97 G&7 15 & & W E -

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 15 :

faferm g § 3% foM & YR W 9RAT TR & SIS0 ST | 97 & o
& y=H TR % 98 ff AR | 1§+1§=3

Classify the Indian towns on the basis of their evolution in different
periods. Also name any three ancient towns of India.
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16. “a T F B A T @ s R | 3x1=3

Explain any three problems of Indian agriculture.

17. ‘a9 S Uger vee &t gitwmr difsw | ont S gueer & R 9R ol & S|
FifSw | 1+2=3

Define the term ‘Rainwater Harvesting’. Mention any four advantages
of rainwater harvesting.

18. WA ¥ Wias §9Ha & SR & Evgsal Hi 2 ? R d9 SRen & s
FHINT | ax1=3

Why is there a need for the conservation of mineral resources in
India ? Explain any three reasons.

19. 49 fGu T 9Rd F UH W@ W 97 @ ol Em e smw @ serEH
FIST 3R 398 9 feu U gwE F I AR 3x1=3

(19.1) 39 TG 47 F T 3R 3HH 99 fAf@y | 8
(19.2) 39 §49 & fau ot & & &idi & AW FaRy |
(19.3) 39 437 & fou &= A1 & &id F49 & ?
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Study the diagram showing the location of a major steel plant of
India given below and answer the questions that follow :

To Bokaro

16 Km, #
> % Steel Plant
@7 @ Limestone
Hirakud Dam ¥> Iron-ore
--.-.-:Railway

(19.1) Identify and name the steel plant.
(19.2) Name two sources of water for this plant.
(19.3) Which are the sources of raw materials for this plant ?

qe : frfafad 599 #ae gEET Tianaal & [T 797 9 19 & @ W8

Note : The following question is for the Blind Candidates only, in lieu of
Q. No. 19:

i fiet T Seed & § o wifta @ W § 2 fR AW sl @ sen
HIeT | 3% 1=3

Why are sugar mills located within the cane producing regions ?
Explain any three reasons.

20. T WV F I A F Ve ffam gve’ & dd 4 o9 = F N gw
mww@%WWﬁmem%vmmm
FIVT | Ix1=3

How have the Bhils is ‘Petlawad Block’ of Jhabua district of Madhya
Pradesh revitalised large parts of common property resources through
their own efforts ? Explain with examples.
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21. OR ¥ @9 T H YOfEd & a9 o SRS H AR FHOT | T & o FER
HH ¢ ? TS F Q-4 fGuivand fafau | 2+1+2=5

Explain two factors affecting mining activity in the world. Which are
the two types of mining ? Write two features of each.

22. HEH F o gl ¥ fawifad FifSe | GUR F fGea Ui & gew wReagd & fE
IR TRl faemde @ W FiT | Sy 1425

Classify roads into two categories. Explain any four significant
features of the road transport of developed countries of the world.

23. AP AR & fFF U9 A H SR FIT | | 5x1=5

Explain any five bases of international trade.

24, G9R ¥ 7T afEdl & faem & fOu 9RE 5= uE SREl # SR ST | SxI=5

Explain any five factors responsible for the development of rural
settlements in the world.

25. FUEE AR & fGHE & fou 9RdT §9s TOEl F Ao WE ST | 5

Explain the significance of Indian sea ports for the development of
international trade.

26. (26.1) WOR ¥ foU T TeHIfGs Wr-uHET (I8 13) # frefafed @) @ e

TI'Q% 4x§=2
A, THE H SO & _Hq?i S T gl <9 |

B. foxga aftss o9 oy &1 ws &7 |

C. UR-FAfez Iomnl & 3ifaq ©IH |

D.  <for @ #t s o faet |

m@mmﬁmﬁnaﬁmw%m@ﬁﬁ%@aﬁm
I e AW fafEw |
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(26.2) WA & fe@ MU TSHifaE W@-AAfeT (Y% 15) § Fefafad & fafd sogw
fagl g feEre 3R 3% 99 fafey : 3x1=3
i) 1991 -2001 &I 37afy ¥ S & G99 9 g R el TF |
(i) e g F FFA H TH GH |
(iii) & W WY H G T IAT H TH K |

(26.1) In the given political outline map of the World (on page 13), the
following four features are shown :

A. The country having lowest density of population in Africa.
B. An area of extensive commercial grain farming.
C. The terminal station of the Trans-Canadian Railway.

D. A mega city of South America.

Identify the above features and write their correct names on the
lines marked near each feature.

(26.2) In the given political outline map of India (on page 15), locate
and label the following with appropriate symbols :

(i) The state having the lowest growth rate of population
(1991 — 2001).

(i1) A coal mine of Tamil Nadu.

(111) A cotton textile centre of eastern Uttar Pradesh.

Tz : frefefad 597 Fac SiEgia qhiemeal & G0 597 G&I 26 & @ W & :
Note : The following questions are for the Blind Candidates only, in lieu
of Q. No. 26 : 5x1=5

(26.1) 3T ¥ TG & TI9 FH T 9l ¥ H AN Fasy |
(26.2) STLfaE UR-TREIE @AM % @& SAfad RIE H A TR |

(26.3) 1991—2001 # 3@fy ¥ SAdE & §od FH g W AT 9RG H
T &1 8 2 .

(26.4) @ g F FES I FH T @H F AH IaSC |
(26.5) IW WU & Tt 99 IAN F FH TF FK H AW AR |

64/2/1 10



(26.1)

(26.2)

(26.3)

(26.4)
(26.5)

64/2/1

Name the country having the lowest density of population in
Africa.

Name the eastern terminal station of the Australian
Trans-Continental Railway.

Which state of India has the lowest growth rate of population
(1991 - 2001) ?

Name any one coal mine of Tamil Nadu.

Name any one cotton textile centre of Uttar Pradesh.

11



¥99 9. 26.1 & fouw

For question no. 26.1

13
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9T g, 26.2 & fou

For question no. 26.2

TR &7 1@T-UHfS (TSTH1TTH)

Outline Map of India (Political)




